

A Note On Cubic Theta Functions and Their Representations

Remy Y. Denis , S.N. Singh*, S.P. Singh* and Nidhi Sahni

Department of Mathematics, Gorakhpur University, Gorakhpur-273009 India.

E-mail: ddry@rediffmail.com; ryddry@gmail.com

*Department of Mathematics, T.D.PG. Collge

Jaunpur-222002 India.

(Received: March 05, 2008)

Abstract : In this paper we shall discuss various representations of cubic theta functions.

2000 AMS Subject Specification : 33A30, 01A60, 33E05

Key words and Phrases : Theta function, cubic theta function, continued fractions.

1. Introduction : Ramanujan defined his theta function

$$f(a, b) = \sum_{n=-\infty}^{\infty} a^{n(n+1)/2} b^{n(n-1)/2} \quad (1.1)$$

for $|ab| < 1$.

Now, with the help of famous Jacobi's triple product identity, (1.1) can be put in the form

$$f(a, b) = [-a; ab]_{\infty} [-b; ab]_{\infty} [ab; ah]_{\infty} \quad (1.2)$$

where the symbol

$$[\alpha; \beta]_{\infty} = \prod_{r=0}^{\infty} (1 - \alpha\beta^r)$$

for α and β real or complex and $|\beta| < 1$. The most important cases of $f(a, b)$ are

$$\phi(q) = f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{[-q; -q]_{\infty}}{[q; -q]_{\infty}} = [q^2; q^2]_{\infty} [-q; q^2]_{\infty}^2 \quad (1.3)$$

$$\psi(q) = f(q, q^3) = \sum_{n=0}^{\infty} q^{n(n+1)/2} = \frac{[q^2; q^2]_{\infty}}{[q; q^2]_{\infty}} \quad (1.4)$$

and

$$f(-q) = f(-q; q^2) = \sum_{n=-\infty}^{\infty} (-)^n q^{n(3n-1)/2} = [q; q]_{\infty} \quad (1.5)$$

We also have,

$$\chi(-q) = [q; q^2]_{\infty} \quad (1.6)$$

Motivated by Jacobi's theta function relation

$$\theta_3^4 = \theta_2^4 + \theta_4^4 \quad (1.7)$$

Borweins [4] discovered its cubic theta function analogue

$$a^3(q) = b^3(q) + c^3(q) \quad (1.8)$$

where

$$a(q) = \sum_{m,n=-\infty}^{\infty} q^{m^2+mn+n^2} \quad (1.9)$$

$$b(q) = \sum_{m,n=-\infty}^{\infty} w^{m-n} q^{m^2+mn+n^2} \quad (1.10)$$

and

$$c(q) = \sum_{m,n=-\infty}^{\infty} q^{(m+\frac{1}{3})^2+(m+\frac{1}{3})(n+\frac{1}{3})+(n+\frac{1}{3})^2} \quad (1.11)$$

The functions $a(q)$, $b(q)$ and $c(q)$ are cubic theta functions and θ_2 , θ_3 and θ_4 are well known Jacobi's theta functions.

Borweins established the following alternative representations for $a(q)$, $b(q)$ and $c(q)$,

$$a(q) = 1 + 6 \sum_{n=0}^{\infty} \left(\frac{q^{3n+1}}{1 - q^{3n+1}} - \frac{q^{3n+2}}{1 - q^{3n+2}} \right) \quad (1.12)$$

$$a(q) = \phi(q)\phi(q^3) + 4q\varphi(q^2)\varphi(q^6) \quad (1.13)$$

$$b(q) = \frac{1}{2}[3a(q^3) - a(q)] \quad (1.14)$$

$$c(q) = \frac{1}{2}[a(q^{1/3}) - a(q)] \quad (1.15)$$

We shall make use of the following known results:

If

$$m = \frac{z_1}{z_3} = \frac{\phi^2(q)}{\phi^2(q^3)}, \quad (1.16)$$

then

$$a(q) = \sqrt{(z_1 z_3)} \frac{m^2 + 6m - 3}{4m} \quad (1.17)$$

$$b(q) = \sqrt{(z_1 z_3)} \frac{(3 - m)(9 - m^2)}{4m^{2/3}} \quad (1.18)$$

and

$$c(q) = \sqrt{(z_1 z_3)} \frac{3(m + 1)(m^2 - 1)^{1/3}}{4m} \quad (1.19)$$

(cf. Berndt[2; Chapter 33, lemma (2.1), p.94]).

Also, we shall use the following known results:

$$a(q) = \sqrt{(z_1 z_3)} \{1 + (\alpha\beta)^{1/4}\} \quad (1.20)$$

3

(cf.Berndt[2;p.94])

$$b(q) = \frac{z_1 m^{1/2} \alpha^{1/8} (1 - \alpha)^{1/2}}{2^{1/3} \beta^{1/24} (1 - \alpha)^{1/6}} \quad (1.21)$$

$$c(q) = \frac{3z_1 \beta^{1/8} (1 - \beta)^{1/2}}{2^{1/3} m^{3/2} \alpha^{1/24} (1 - \alpha)^{1/6}} \quad (1.22)$$

(cf.Berndt[2;equations (3.16) and (3.17)p.104])

where β is of degree 3 over α and m is the multiplier associated with α and β .

2. Evaluation of cubic theta functions and their different representations

We have , if

$$a = \frac{\pi^{1/4}}{\Gamma(3/4)} \quad \text{then} \quad \phi(e^{-\pi}) = a \quad (2.1)$$

(cf.Berndt[2;entry1(i),p.325])

Also, we have

$$\sqrt{z} = \phi(q) \quad (2.2)$$

and

$$\frac{\phi(q)}{\phi(q^3)} = \sqrt{\left(\frac{z_1}{z_3}\right)} = \sqrt{m} \quad (2.3)$$

(cf.Ramanujan[6;Chapter 17,entry 10(i)])

We also have

$$\frac{\phi(e^{-\pi})}{\phi(e^{-3\pi})} = (6\sqrt{3} - 9)^{1/4} \quad (2.4)$$

(Berndt[2;Chapter 35,entry 3 ,p.327])

Now,for $q = e^{-\pi}$, (2.2) yields

$$\sqrt{m} = \sqrt{\left(\frac{z_1}{z_3}\right)} = \frac{\phi(e^{-\pi})}{\Phi(e^{-3\pi})} = (6\sqrt{3} - 9)^{1/4} \quad (2.5)$$

Thus, we have

$$\sqrt{z_1} = \phi(e^{-\pi}) = a \quad (2.6)$$

and from (2.2)

$$\sqrt{z_3} = \phi(e^{-3\pi}) = \frac{a}{(6\sqrt{3} - 9)^{1/4}} \quad (2.7)$$

Now, using (2.5), (2.6) and (2.7) in (1.10)-(1.12), we get the following evaluation of $a(q)$, $b(q)$ and $c(q)$ for $q = e^{-\pi}$, after some simplification,

$$a(e^{-\pi}) = \frac{a^2}{(6\sqrt{3} - 9)^{1/4}} \frac{3^{1/4}}{2\sqrt{2}} \{3(2\sqrt{3})^{1/2} - \sqrt{3} + 1\} \quad (2.8)$$

$$b(e^{-\pi}) = \frac{a^2(3 - \sqrt{(6\sqrt{3} - 9)})}{2(6\sqrt{3} - 9)^{1/4} \{2(\sqrt{3} - 1)\}^{1/3}} \quad (2.9)$$

$$c(e^{-\pi}) = \frac{a^2(6\sqrt{3} - 9)^{1/4}}{(6 - 2\sqrt{3})} (1 + \sqrt{(6\sqrt{3} - 9)}) \quad (2.10)$$

Now, using the entries 10,11,12 of Chapter 17 of Ramanujan [6], we get

$$\phi(q)\phi(q^3) = \sqrt{(z_1 z_3)} \quad (2.11)$$

$$4q\psi^2(q)\psi^2(q^3) = z_1 z_3 (\alpha\beta)^{1/4} \quad (2.12)$$

Thus, from (1.20), we have,

$$a(q) = \frac{\phi^2(q)\phi^2(q^3) + 4q\psi^2(q)\psi^2(q^3)}{\phi(q)\phi(q^3)} \quad (2.13)$$

Also, we have

$$4q\psi^2(q^2)\psi(q^6) = \sqrt{(z_1 z_3)} (\alpha\beta)^{1/4} \quad (2.14)$$

Now, (1.20), (2.11) and (2.14) yield

$$a(q) = \phi(q)\phi(q^3) + 4q\psi(q^2)\psi(q^6) \quad (2.15)$$

which is the known result (1.13).

Again,

$$4q \frac{\psi^2(-q)\psi^2(-q^3)}{\phi^2(-q^2)\phi^2(-q^6)} = (\alpha\beta)^{\frac{1}{4}} \quad (2.16)$$

Now, from (1.20),(2.11)and (2.16), we get

$$a(q) = \phi(q)\phi(q^3) \left\{ 1 + 4q \frac{\psi^2(-q)\psi^2(-q^3)}{\phi^2(-q^2)\phi^2(-q^6)} \right\} \quad (2.17)$$

Again, we have

$$4q \frac{f^6(q)f^6(q^3)}{\phi(-q)\phi(-q^3)\phi^5(q)\phi^5(q^3)} = (\alpha\beta)^{\frac{1}{4}} \quad (2.18)$$

Hence, from (1.20),(2.11) and (2.18), we get

$$a(q) = \phi(q)\phi(q^3) + 4q \frac{f^6(q)f^6(q^3)}{\phi(-q)\phi(-q^3)\phi^4(q)\phi^4(q^3)} \quad (2.19)$$

Also , one can easily get

$$4q \frac{f^6(-q)f^6(-q^3)}{\phi^4(-q)\phi^4(-q^3)\phi^2(q)\phi^2(q^3)} = (\alpha\beta)^{\frac{1}{4}} \quad (2.20)$$

Thus, we have

$$a(q) = \phi(q)\phi(q^3) + \frac{4q f^6(-q)f^6(-q^3)}{\phi^4(-q)\phi^4(-q^3)\phi(q)\phi(q^3)} \quad (2.21)$$

We also have

$$\frac{4q f^3(-q)f^3(-q^6)}{\phi^2(-q^2)\phi^2(-q^6)\phi(q)\phi(q^3)} = (\alpha\beta)^{\frac{1}{4}} \quad (2.22)$$

Thus, using (1.20), (2.11) and (2.22), we get

$$a(q) = \phi(q)\phi(q^3) + \frac{4q f^3(-q)f^3(-q^6)}{\phi^2(-q^2)\phi^2(-q^6)} \quad (2.23)$$

We, again, have

$$4q \left\{ \frac{f^3(-q^4)f^3(-q^{12})}{\phi(-q^2)\phi(-q^6)} \right\}^{1/2} = \sqrt{(z_1 z_3)(\alpha\beta)^{\frac{1}{4}}}. \quad (2.24)$$

Thus, from (1.20),(2.11) and (2.24), we get,

$$a(q) = \phi(q)\phi^3(q) + 4q \frac{\{f^3(-q^4)f^3(-q^{12})\}^{\frac{1}{2}}}{\{\phi(-q^2)\phi(-q^6)\}^{\frac{1}{2}}} \quad (2.25)$$

Also, we have,

$$\frac{4q\phi^2(q)\phi^2(q^3)}{\chi^6(q)\chi^6(q^3)\phi^2(-q^2)\phi^2(-q^6)} = (\alpha\beta)^{\frac{1}{4}} \quad (2.26)$$

Hence, using (1.20), (2.11) and (2.26), we have

$$a(q) = \phi(q)\phi(q^3) \left\{ 1 + \frac{4q\phi^2(q)\phi^2(q^3)}{\chi^6(q)\chi^6(q^3)\phi^2(-q^2)\phi^2(-q^6)} \right\} \quad (2.27)$$

Further, we have

$$\frac{4q\phi^2(-q)\phi^2(-q^3)}{\phi(q)\phi(q^3)\chi^6(-q)\chi^6(-q^3)} = (z_1 z_3)^{1/2} (\alpha\beta)^{\frac{1}{4}} \quad (2.28)$$

which, with the help of (1.20), (2.11) and (2.28) yields

$$a(q) = \phi(q)\phi(q^3) + \frac{4q\phi^2(-q)\phi^2(-q^3)}{\phi(q)\phi(q^3)\chi(-q)\chi^6(-q^3)} \quad (2.29)$$

Again, we have

$$\frac{4q\phi(-q^2)\phi(-q^6)}{\chi^3(-q^2)\chi^3(-q^6)} = (z_1 z_3)^{1/2} (\alpha\beta)^{\frac{1}{4}} \quad (2.30)$$

Now, from (1.20), (2.11) and (2.30), we get

$$a(q) = \phi(q)\phi(q^3) + \frac{4q\phi(-q^2)\phi(-q^6)}{\chi^3(-q^2)\chi^3(-q^6)} \quad (2.31)$$

Also, we can have,

$$\frac{f^3(-q)}{f(-q^3)} = \frac{z_1 \sqrt{m} (1-\alpha)^{\frac{1}{2}} \alpha^{\frac{1}{8}}}{2^{\frac{1}{3}} (1-\beta)^{\frac{1}{6}} \beta^{\frac{1}{24}}} \quad (2.32)$$

Hence, (1.21) and (2.32) lead

$$b(q) = \frac{f^3(-q)}{f(-q^3)} \quad (2.33)$$

which is a known result (cf. Berndt[2; chapter 33(5.4), p.109]).

Again, we find that

$$3q^{\frac{1}{3}} \frac{f^3(-q^3)}{f(-q)} = \frac{3z_1 \beta^{\frac{1}{8}} (1-\beta)^{\frac{1}{2}}}{2^{\frac{1}{3}} m^{\frac{3}{2}} (1-\alpha)^{\frac{1}{6}} \alpha^{\frac{1}{24}}} \quad (2.34)$$

Now, from (1.22) and (2.34), we have

$$c(q) = \frac{3q^{\frac{1}{3}} f^3(-q^3)}{f(-q)} \quad (2.35)$$

which is another known result (cf. Bendt[2;chapter 33(5.5)p.109]).
Further, we can find that

$$\begin{aligned} & 4^{1/6} \left\{ \frac{\psi^3(q^2)}{\psi(q^6)} \right\}^{\frac{1}{6}} \left\{ \frac{\phi^{11}(-q)\phi^2(-q^2)}{\phi^3(-q^3)\phi^2(-q^6)} \right\}^{\frac{1}{6}} \\ &= (z_1/z_3)^{1/2} (\alpha^3/\beta)^{1/24} \{(1-\alpha)^3/(1-\beta)\}^{1/6} \end{aligned} \quad (2.36)$$

Now, (1.21) and (2.36) yield

$$b^6(q) = \frac{\psi^3(q^2)\phi^{11}(-q)\phi^2(-q^2)}{\psi(q^6)\phi^3(-q^3)\phi^2(-q^6)} \quad (2.37)$$

Similarly, we have

$$c^6(q) = \frac{3^6 q^2 \psi^3(q^6)\phi^{11}(-q^3)\phi^2(-q^6)}{\psi(q^2)\phi^3(-q)\phi^2(-q^2)} \quad (2.38)$$

Also, we can get

$$\begin{aligned} & 2^{1/3} \left\{ \frac{\phi^3(-q^2)}{\phi(-q^6)} \right\}^{\frac{1}{3}} \left\{ \frac{\psi^3(q)}{\psi(q^3)} \right\}^{\frac{1}{3}} \left\{ \frac{\phi(q^3)}{\phi^3(q)} \right\}^{\frac{1}{3}} \\ &= (z_1^3/z_3)^{1/2} \{(1-\alpha)^3/(1-\beta)\}^{1/6} (\alpha^3/\beta)^{1/24} \end{aligned} \quad (2.39)$$

Now (1.21) and (2.39) lead to

$$b^3(q) = \frac{\phi^{12}(-q^2)\psi^3(q)\phi(q^3)}{\phi^4(-q^6)\psi(q^3)\phi^3(q)} \quad (2.40)$$

Similarly, we get

$$c^3(q) = 3q \frac{\phi^{12}(-q^6)\psi^3(q^3)\phi(q)}{\phi^4(-q^2)\psi(q)\phi^3(q^3)} \quad (2.41)$$

We can easily obtain

$$2^{1/3} \left\{ \frac{\phi^3(q)}{\phi(q^3)} \right\}^{1/3} \left\{ \frac{\psi^3(-q)\psi(q^3)}{\psi^3(q)\psi(-q^3)} \right\}^{4/3} \left\{ \frac{\psi^3(q)}{\psi(q^3)} \right\}^{1/3}$$

$$= \sqrt{\left\{\frac{z_1^3}{z_3}\right\}} \left(\frac{\alpha^3}{\beta}\right)^{\frac{1}{24}} \left\{\frac{(1-\alpha)^3}{1-\beta}\right\}^{\frac{1}{6}} \quad (2.42)$$

Now, with the help of (1.21) and (2.42), we

$$b^3(q) = \frac{\phi^3(q)\psi^{12}(-q)\psi^3(q^3)}{\phi(q^3)\psi^4(-q^3)\psi^9(q)} \quad (2.43)$$

Similarly,

$$c^3(q) = 3q \frac{\phi^3(q^3)\psi^{12}(-q^3)\psi^3(q)}{\phi(q)\psi^4(-q)\psi^9(q^3)} \quad (2.44)$$

It is easy to establish that

$$b(q) = \frac{\phi(q^3)f^3(q)\phi^3(-q^2)}{\phi^3(q)f(q^3)\phi(-q^6)} \quad (2.45)$$

and

$$c(q) = 3q^{\frac{1}{3}} \frac{\phi(q)f^3(q^3)\phi^3(-q^6)}{\phi^3(q^3)f(q)\phi(-q^2)} \quad (2.46)$$

Applying the known results of Rammanujan [6; Chapter 17, entries 10, 11 and 12], one can establish several other representations for $b(q)$ and $c(q)$.

3. Generalized cubic theta functions

Hirschhorn, Gavan and Borwein [4] introduced the functions,

$$a(q, z) = \sum_{m, n=-\infty}^{\infty} q^{m^2+mn+n^2} z^{n-m} \dots \quad (3.1)$$

$$b(q, z) = \sum_{m, n=-\infty}^{\infty} q^{m^2+mn+n^2} w^{n-m} z^m, (w = e^{2\pi i/3}) \dots \quad (3.2)$$

$$c(q, z) = q^{\frac{1}{3}} \sum_{m, n=-\infty}^{\infty} q^{m^2+mn+n^2} q^{m+n} z^{n-m} \quad (3.3)$$

As $z \rightarrow 1$,

$$a(q, 1) = a(q), b(q, 1) = b(q), c(q, 1) = c(q) \quad (3.4)$$

Here we want to point out that in the definition of $a(q, z)$ given above the multiplier $q^{\frac{1}{3}}$ is not in the definition of $c(q, z)$ given by Hirschhorn et.al.[4]. They gave a number of identities with the help of Jacobi's triple product identity. Some of these are mentioned below.

$$a(q, z) = \frac{1}{3}(1 + z + z^{-1}) \left[1 + 6 \sum_{n=1}^{\infty} \left(\frac{q^{3n-2}}{1 - q^{3n-2}} - \frac{q^{3n-1}}{1 - q^{3n-1}} \right) \right. \\ \left. \times \frac{[q; q]_{\infty}^2 [z^3 q^3, q^3/z^3; q^3]_{\infty}}{[q^3; q^3]_{\infty}^2 [zq, q/z; q]_{\infty}} + \frac{1}{3}(2 - z - z^{-1}) \frac{[q; q]_{\infty}^5}{[q^3; q^3]_{\infty}^3} [zq, q/z; q]_{\infty}^2 \right] \quad (3.5(a))$$

$$a(q, z) = (2 + z + z^{-1}) \frac{[q^2; q^2]_{\infty}^2 [q; q]_{\infty}}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} [-zq, -q/z; q]_{\infty}^2 \\ - (1 + z + z^{-1}) \frac{[q^2; q^2]_{\infty} [q^3; q^3]_{\infty} [z^3 q^3, q^3/z^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty}^3 [zq, q/z; q]_{\infty}} \quad (3.5(b))$$

$$b(q, z) = [q; z]_{\infty} [q^3; q^3]_{\infty} \frac{[zq, q/z; q]_{\infty}}{[zq^3, q^3/z; q^3]_{\infty}} \quad (3.6)$$

and

$$c(q, z) = \frac{q^{1/3}(1 + z + z^{-1})[q; q]_{\infty} [q^3; q^3]_{\infty} [z^3 q^3, q^3/z^3; q^3]_{\infty}}{[zq, q/z; q]_{\infty}} \quad (3.7)$$

The above representations are helpful in evaluating $a(q, z)$, $b(q, z)$ and $c(q, z)$ for particular values of z . As an illustration, we evaluate these functions for some special values of z .

If we set $z = w$ ($w = e^{2\pi i/3}$), in (3.5(b)), (3.6) and (3.7), we get

$$a(q, w) = \frac{[a^2; a^2]_{\infty}^2 [q; q]_{\infty}}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} \prod_{i=1}^{\infty} (1 - q^i + q^{2i})^2 \quad (3.8)$$

$$b(q, w) = [q; q]_{\infty} [q^3; q^3]_{\infty} \prod_{i=1}^{\infty} \left\{ \frac{1 + q^i + q^{2i}}{1 + q^{3i} + q^{6i}} \right\} \quad (3.9)$$

and

$$c(q, w) = 0 \quad (3.10)$$

Next if we put $z = -w$ in (3.5(b))-(3.7) we get

$$a(q, -w) = \frac{3[q^2; q^2]_{\infty}^2 [q; q]_{\infty}}{[-q^3; q^3]_{\infty} [q^6; q^6]_{\infty}} \prod_{i=1}^{\infty} (1 + q^i + q^{2i})^2$$

$$- \frac{2[q^2; q^2]_{\infty} [q^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty} \prod_{i=1}^{\infty} (1 - q^i + q^{2i})} \quad (3.11)$$

$$b(q, -w) = [q; q]_{\infty} [q^3; q^3]_{\infty} \prod_{i=1}^{\infty} \left\{ \frac{1 - q^i + q^{2i}}{1 - q^{3i} + q^{6i}} \right\} \quad (3.12)$$

and

$$c(q, -w) = 2q^{\frac{1}{3}} \frac{[q; q]_{\infty} [q^3; q^3]_{\infty} [-q^3; q^3]_{\infty}^2}{\prod_{i=1}^{\infty} (1 - q^i + q^{2i})} \quad (3.13)$$

Further, if we take $z = -1$ in (3.5)-(3.7), we get

$$a(q, -1) = \frac{[q^2; q^2]_{\infty} [q^3; q^3]_{\infty}}{[-q^3; q^3]_{\infty} [-q; q]_{\infty}^2} \quad (3.14)$$

$$b(q, -1) = \frac{[q; q]_{\infty} [q^3; q^3]_{\infty} [-q; q]_{\infty}^2}{[-q^3; q^3]_{\infty}^2} \quad (3.15)$$

and

$$c(q, -1) = \frac{-q^{\frac{1}{3}} [q; q]_{\infty} [q^3; q^3]_{\infty} [-q^3; q^3]_{\infty}^2}{[-q; q]_{\infty}^2} \quad (3.16)$$

Lastly, for $z = 1$ in (3.5(a)), (3.6) and (3.7) we get

$$a(q, 1) = a(q) = 1 + 6 \sum_{n=1}^{\infty} \left\{ \frac{q^{3n-2}}{1 - q^{3n-2}} - \frac{q^{3n-1}}{1 - q^{3n-1}} \right\} \quad (3.17)$$

which is a known result (cf. (Equation 1.6))

$$b(q, 1) = b(q) = \frac{[q; q]_{\infty}^3}{[q^3; q^3]_{\infty}} \quad (3.18)$$

and

$$c(q, 1) = c(q) = 3q^{\frac{1}{3}} \frac{[q^3; q^3]_{\infty}^3}{[q; q]_{\infty}} \quad (3.19)$$

4. Generalized cubic theta functions and continued fractions

In this section we shall attempt to show certain interesting results involving cubic theta functions and continued fractions.

If in (3.6) we replace q by q^k and z by q^i , we get, after some simplification,

$$b(q^k, q^i) = \frac{[q^k, q^k]_{\infty} [q^{3k}; q^{3k}]_{\infty} [q^i, q^{k-i}; q^k]_{\infty}}{[q^i, q^{3k-i}; q^{3k}]_{\infty}} \quad (4.1)$$

Now putting $k = 5$ and $i = 1$ in (4.1), we get

$$b(q^5, q) = [q^5; q^5]_{\infty} [q^{15}; q^{15}]_{\infty} \frac{[q, q^4; q^5]_{\infty}}{[q, q^{14}; q^{15}]_{\infty}} \quad (4.2)$$

Again, taking $k = 5$ and $i = 2$ in (4.1), we have

$$b(q^5, q^2) = [q^5; q^5]_{\infty} [q^{15}; q^{15}]_{\infty} \frac{[q^2, q^3; q^5]_{\infty}}{[q^2, q^{13}; q^{15}]_{\infty}} \quad (4.3)$$

Now, (4.2) and (4.3) yield the following result with the help of a well known result of Ramanujan (cf. Andrews and Berndt [1; Cor. 6.2.6, p.153])

$$\frac{b(q^5, q)}{b(q^5, q^2)} = \frac{[q^2, q^{13}; q^{15}]_{\infty}}{[q, q^{14}; q^{15}]_{\infty}} \left\{ \frac{1}{1+} \frac{q}{1+} \frac{q^2}{1+} \frac{q^3}{1+} \dots \right\} \quad (4.4)$$

Next, taking $k = 6, i = 1$, and $k = 6, i = 3$, respectively, in (4.1) and using the results thus obtained and another known result (cf. Andrews and Berndt [1; 6.2.7 p.154]), we get

$$\frac{b(q^6, q)}{b(q^6, q^3)} = \frac{[q^3, q^{15}; q^{18}]_\infty}{[q, q^{17}; q^{18}]_\infty} \left\{ \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^2+q^4}{1+} \frac{q^3+q^6}{1+} \dots \right\} \quad (4.5)$$

Further, setting $k = 8, i = 1$ and $k = 8, i = 3$, respectively, in (4.1) and making use of the results thus obtained and yet another known result (cf. Andrews and Berndt[1;6.2.38,p154]), we get

$$\frac{b(q^8, q)}{b(q^8, q^3)} = \frac{[q^3, q^{21}; q^{24}]_\infty}{[q, q^{23}; q^{24}]_\infty} \left\{ \frac{1}{1+} \frac{q+q^2}{1+} \frac{q^4}{1+} \frac{q^3+q^6}{1+} \dots \right\} \quad (4.6)$$

Again, putting $k = 4, i = 2$ and $k = 4, i = 1$, respectively, in (4.1) and applying a known result (cf. Andrews and Berndt[1;6.2.22,p150]), along with the above two relations, we get the following result,

$$\frac{b(q^4, q)}{b(q^4, q^2)} = \frac{[q^2, q^{10}; q^{12}]_\infty}{[q, q^{11}; q^{12}]_\infty} \left\{ \frac{1}{1+} \frac{q}{1+} \frac{q+q^2}{1+} \frac{q^3}{1+} \frac{q^2+q^4}{1+} \dots \right\} \quad (4.7)$$

Now, we have from (3.6) and (3.7)

$$b(q, z)c(q, z) = q^{1/3}(1+z+z^{-1})[q; q]_\infty^2 [q^3; q^3]_\infty^2 \left\{ \frac{[z^3 q^3, q^3/z^3; q^3]_\infty}{[z q^3, q^3/z; q^3]_\infty} \right\} \quad (4.8)$$

Further, (3.7) can be written with q and z replaced by q^k and q^i , respectively,

$$\begin{aligned} c(q^k, q^i) &= q^{k/3}(1+q+q^{-i})[q^k; q^k]_\infty [q^{3k}; q^{3k}]_\infty \left\{ \frac{1-q^i}{1-q^{3i}} \right\} \frac{[q^{3i}, q^{3k-3i}; q^{3k}]_\infty}{[q^i, q^{k-i}; q^k]_\infty} \\ &= \frac{[q^k; q^k]_\infty [q^{3k}; q^{3k}]_\infty [q^{3i}, q^{3k-3i}; q^{3k}]_\infty}{q^i [q^i, q^{k-i}; q^k]_\infty} \end{aligned} \quad (4.9)$$

Now, setting $k = 2, i = 1$ and also $k = 6, i = 1$ in (4.9) and applying a known result (cf. Andrews and Berndt[1;6.2.37,p.154]), along with the above two resulting relations, we get

$$\begin{aligned} &c(q^2, q)c(q^6, q) \\ &= q^{2/3} \frac{[q^2; q^2]_\infty [q^6; q^6]_\infty^2 [q^{18}; q^{18}]_\infty [q^3, q^{15}; q^{18}]_\infty}{[q; q^2]_\infty^2} \left\{ 1+ \frac{q+q^2}{1+} \frac{q^2+q^4}{1+} \frac{q^3+q^6}{1+} \dots \right\} \end{aligned} \quad (4.10)$$

Lastly, replacing q by q^2 and z by q in (4.8) and making use of the above resulting

relations alongwith yet another known result(cf.Andrews and Berndt[1;6.2.37,p.154]), we get the following relation between generalized cubic theta function and continued fraction

$$q^{1/3}b(q^2, q)c(q^2, q) = [q^2; q^2]_{\infty}^2 [q^6; q^6]_{\infty}^2 \left\{ 1 + \frac{q + q^2}{1 + \dots} \frac{q^2 + q^4}{1 + \dots} \frac{q^3 + q^6}{1 + \dots} \right\} \quad (4.11)$$

It is evident that many more results of the type investigated in this section could also be derived easily.

Acknowledgement

This work has been done under Major Research Projects F.31-83/2005 (S.R.) and F.No.32-164/2006(SR) sanctioned to the first two authors, respectively, by the University Grants Commission, Govt. of India, New Delhi, for which they wish to thank the authorities concerned. The first two authors are also thankful to the Department of Science and Technology, Govt. of India, New Delhi, for support under major research projects No. SR/S4/MS-461/07 dtd.13.2.2008 entitled "A study of basic hypergeometric functions with special referenmce to Ramanujan mathematics" and No.SR/S4/MS:524 dtd.10.2.2008 entitled "Glimpses of Ramanujan's mathematics in the field of q -series" sanctioned to them, respectively.

References

- [1] Andrews, G.E, and Berndt, B.C.: Ramanujan's Lost Notebook Part I, Springer, New York (2005)
- [2] Berndt, B.C.: Ramanujan's Notebook Part V, Springer, New York (1998)
- [3] Bhargava, S.: *Unification of the cubic analogue of Jacobian theta functions*, Jour.Math.Analysis and applications, 193(1995), 543-558.
- [4] Borwein, J.M. and Borwein, P.B., *A cubic counterpart of Jacobi's identities and the AGM*, Trans Amer.Math Soc. 323(1991), 691-701.
- [5] Hirschhorn, M.D., Garvan and Borwein, J.M: *Cubic analogues of Jacobian Theta functions*, Canad.Jour.Math. 45(1993), 673-694.

- [6] Ramanujan, S., *Notebooks of Ramanujan Vol. II* Tata Institute of Fundamental Research, Bombay, 1957.
- [7] Verma, A., *On indentities of Rogers-Ramanujan type* Indian Jour. pure and applied Math, 11(6); (Jun 1980) 770-790.